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QUESTION 1

An administrator wants to assign a role to a new Active Directory group so that users can request services from the
service catalog.

Which action should the administrator take to achieve this goal?

A. From the Identity and Access Management tab in vRealize Automation, assign the group the Service Broker User
role only.

B. From the Identity and Access Management tab in vRealize Automation, assign the group the Service Broker User
and Organization member roles.

C. From the Identity and Access Management tab in Workspace One Access, assign the group the Service Broker User
role only.

D. From the Identity and Access Management tab in Workspace One Access, assign the group the Service Broker User
and Organization member roles.

Correct Answer: C

QUESTION 2

Which two log bundle types can be generated in vRealize Operations in the event of an error which requires a support
ticket? (Choose two.)

A. Full

B. Complete

C. Custom

D. Comprehensive
E. Light

Correct Answer: AE

QUESTION 3
An operator wants to check the health of the vRealize Suite components deployed in a environment.

Which two actions should an operator take in vRealize Operations Manager to accomplish this objective? (Choose
two.)

A. Check the SDDC Health Historic Trend dashboard.
B. Install content packs for the vRealize Suite components.

C. Check the SDDC Management Health Overview dashboard.
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D. Check the vRealize Orchestrator Overview dashboard.
E. Install the SDDC Management Health Monitoring Solution.

Correct Answer: AC

QUESTION 4

An administrator is troubleshooting an application via Workbench in vRealize Operations Manager and would like to only
view root causes.

Which option must the administrator select?
A. Specify Time Range

B. Decrease Object Scope

C. Hide Consequential Evidence

D. Investigate Property Changes

Correct Answer: A

QUESTION 5

Why would the health status of an environment be missing in vRealize Suite Lifecycle Manager (VRSLCM)?
A. Identity Manager is not deployed in the environment.

B. vRealize Log Insight is not deployed in the environment.

C. The SDDC Management Health solution pack is not configured in vRealize Operations Manager.

D. The vVRSLCM Management solution pack is not configured in vRealize Operations Manager.

Correct Answer: C
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